

GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 (0) 770.822.8720 | (F) 770.822.8735 www.gwinnettcounty.com

October 18, 2024

Addendum No. 2

BL114-24 M-1357-01 F-1546-01 & M-1238-28 Lakeview Rd at Pharrs Rd-Hillside Dr

THE FOLLOWING CHANGES WERE MADE TO THE BID SCHEDULE:

- 1. Page 3 of 7, Item 210 500-3002 CLASS AA CONCRETE, CY 34 was CHANGED to Item 210 500-3002 CLASS AA CONCRETE, CY 40.
- 2. Page 3 of 7, Item 220 511-1000 BAR REINF STEEL, LB 3,350 was CHANGED to Item 220 511-1000 BAR REINF STEEL, LB 3,900.

FOR THE CONTRACTORS' INFORMATION:

- **Q1.** The special grading drawing does not show the existing contour lines in the portion where the new roundabout is proposed. Please provide existing contour lines on the entire area of the special grading plan.
- A1. Contractor to use the plan cross sections along with the special grading plan to obtain the information for the area at the roundabout.
- **Q2.** Is the contractor responsible for onsite material testing?
- A2. No.
- **Q3.** Can you provide a utility relocation schedule, showing the anticipated dates that utility companies will be completed with the relocation of their facilities?
- A3. No.
- **Q4.** Will water monitoring and monthly inspections be required for the project? If so, please add the item.
- A4. No.
- Q5. Is video inspection for drainage pipe required on this project?
- A5. Video Inspection of drainage pipe will be required in accordance with GDOT Specification.
- **Q6.** Why is the item salvage fire hydrant two times in the schedule of values?
- A6. The DWR item were separated out, bidder to bid both items.

- **Q7.** Why is the item Fire Hydrant two times in the schedule of values?
- A7. The DWR item were separated out, bidder to bid both items.
- **Q8.** Why is the item service line two times in the schedule of values?
- A8. The DWR item were separated out, bidder to bid both items.
- **Q9.** When do you anticipate construction to start?
- A9. First Quarter of 2025
- **Q10.** What pattern needs to be used for the stamped colored red pavement?
- A10. See GDOT Construction Detail RA-2 for information.
- **Q11.** Please provide the dowel bar size and spacing for the plain concrete pavement class 3.
- A11. See GDOT Construction Detail RA-2 for information.
- Q12. It is our understanding that item 210 "Class AA concrete" 34 CY is intended for the box culvert extension and the wing walls. Per GDOT standard detail 2401 2-M, the new 18 LF of the box culvert, including the parapet and toe wall, will require 33.11 CY. Additionally, per GDOT 2404 the wingwalls will require 12.4 CY of concrete. The total for this line item should be 46 CY. Please revise item quantities if our reasoning is correct.
- A12. Per GDOT Standard 2404 note, the quantities for wingwall, wingwall footing, etc. are for both ends. This project is only extending the outlet end; therefore, the quantities would be half. Bid quantities have been adjusted to account for wingwall quantities.

ATTACHMENTS:

• Revised Bid Schedule (Pages 1-7)

RECEIPT OF BIDS REMAINS 2:50 PM LOCAL TIME, THURSDAY, OCTOBER 24, 2024

All bidders shall acknowledge receipt of this addendum by inserting its number and date in the Bid Form. Failure to do so may subject the bidder to disqualification. This addendum forms a part of the Contract Documents.

You should acknowledge receipt on Page I-4 of the bidding documents.

Thank you,

GWINNETT COUNTY, GEORGIA				
PROJECT #:	M-1357-01, F-1546-01 & M-1238-28			
PROJECT:	Lakeview Road at Pharrs Road / Hillside Drive			
BID NUMBER:	BL114-24			

	· ·	BID SCHEDULE					
150-1000A TRAFFIC CONTROL - PROJECT NO. M-1357-01 LS	Item #	GDOT#	Description	Units		Unit Price Bid	Total Price Bid
150-1000A TRAFFIC CONTROL - PROJECT NO. M-1357-01 LS					1		
150-1000A TRAFFIC CONTROL - PROJECT NO. M-1357-01 LS	005	009-3100	AERIAL PHOTOGRAPH DOCUMENTATION	МО	10		
015 150-1000B TRAFFIC CONTROL - PROJECT NO. F-1546-01 LS 1 020 161-1000A EROSION CONTROL, PROJECT NO. M-1357-01 LS 1 025 161-1000B EROSION CONTROL, PROJECT NO. F-1546-01 LS 1 030 163-0538 CONSTRUCT, MAINTAIN AND REMOVE CHECK DAM EA 29 035 163-0551 CONSTRUCT, MAINTAIN AND REMOVE INLET SEDIMENT EA 22 040 171-0030 TEMPORARY SILT FENCE, TYPE C LF 4,427 045 207-0203 FOUND BKFILL MATL, TP II CY 200 050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 060 210-0250A (PER SPECIFICATION 210.5C) LS 1 060 210-0250A (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062							
015 150-1000B TRAFFIC CONTROL - PROJECT NO. F-1546-01 LS 1 020 161-1000A EROSION CONTROL, PROJECT NO. M-1357-01 LS 1 025 161-1000B EROSION CONTROL, PROJECT NO. F-1546-01 LS 1 030 163-0538 CONSTRUCT, MAINTAIN AND REMOVE CHECK DAM EA 29 035 163-0551 CONSTRUCT, MAINTAIN AND REMOVE INLET SEDIMENT EA 22 040 171-0030 TEMPORARY SILT FENCE, TYPE C LF 4,427 045 207-0203 FOUND BKFILL MATL, TP II CY 200 050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 060 210-0250A (PER SPECIFICATION 210.5C) LS 1 060 210-0250A (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062							
161-1000A EROSION CONTROL, PROJECT NO. M-1357-01 LS	010	150-1000A	TRAFFIC CONTROL - PROJECT NO. M-1357-01	LS	1		
161-1000A EROSION CONTROL, PROJECT NO. M-1357-01 LS							
161-1000A EROSION CONTROL, PROJECT NO. M-1357-01 LS	015	150-1000B	TRAFFIC CONTROL - PROJECT NO. E-1546-01	18	_		
025 161-1000B EROSION CONTROL, PROJECT NO. F-1546-01 LS 1 030 163-0538 CONSTRUCT, MAINTAIN AND REMOVE CHECK DAM EA 29 035 163-0551 CONSTRUCT, MAINTAIN AND REMOVE INLET SEDIMENT TRAP EA 22 040 171-0030 TEMPORARY SILT FENCE, TYPE C LF 4,427 045 207-0203 FOUND BKFILL MATL, TP II CY 200 050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B (UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062	013	100-1000D	THAT TO GOVERNOE TROUBET NO. 1 10-10 01		<u> </u>		
025 161-1000B EROSION CONTROL, PROJECT NO. F-1546-01 LS 1 030 163-0538 CONSTRUCT, MAINTAIN AND REMOVE CHECK DAM EA 29 035 163-0551 CONSTRUCT, MAINTAIN AND REMOVE INLET SEDIMENT TRAP EA 22 040 171-0030 TEMPORARY SILT FENCE, TYPE C LF 4,427 045 207-0203 FOUND BKFILL MATL, TP II CY 200 050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B (UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062							
163-0538 CONSTRUCT, MAINTAIN AND REMOVE CHECK DAM EA 29	020	161-1000A	EROSION CONTROL, PROJECT NO. M-1357-01	LS	1		
163-0538 CONSTRUCT, MAINTAIN AND REMOVE CHECK DAM EA 29							
163-0538 CONSTRUCT, MAINTAIN AND REMOVE CHECK DAM EA 29	005	101 10000	EDOCION CONTROL PROJECTING E 4540 04				
163-0551 CONSTRUCT, MAINTAIN AND REMOVE INLET SEDIMENT EA 22	025	161-1000B	EROSION CONTROL, PROJECT NO. F-1546-01	LS	1		
163-0551 CONSTRUCT, MAINTAIN AND REMOVE INLET SEDIMENT EA 22					1		
163-0551 TRAP	030	163-0538	CONSTRUCT, MAINTAIN AND REMOVE CHECK DAM	EA	29		
163-0551 TRAP							
040 171-0030 TEMPORARY SILT FENCE, TYPE C LF 4,427 045 207-0203 FOUND BKFILL MATL, TP II CY 200 050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062							
045 207-0203 FOUND BKFILL MATL, TP II CY 200 050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062	035	163-0551	TRAP	EA	22		
045 207-0203 FOUND BKFILL MATL, TP II CY 200 050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062				•	1		
045 207-0203 FOUND BKFILL MATL, TP II CY 200 050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062	040	171-0030	TEMPORARY SILT FENCE. TYPE C	l F	4.427		
050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062			, , ,		.,		
050 210-0100A GRADING COMPLETE - PROJECT NO. M-1357-01 LS 1 055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062							
055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062	045	207-0203	FOUND BKFILL MATL, TP II	CY	200		
055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062							
055 210-0100B GRADING COMPLETE - PROJECT NO. F-1546-01 LS 1 060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062	050	210 01004	CDADING COMPLETE DROJECT NO. M 1357 01	10	1		
060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062	030	210-0100A	GRADING COMPLETE - FROSECTIVO. M-1337-01	LO			
060 210-0250A UNDERCUT EXCAVATION - PROJECT NO. M-1357-01 CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062			1				
060 210-0250A (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062	055	210-0100B	GRADING COMPLETE - PROJECT NO. F-1546-01	LS	1		
060 210-0250A (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062							
065 210-0250B UNDERCUT EXCAVATION - PROJECT NO. F-1546-01 (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062							
065 210-0250B (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062	060	210-0250A	(PER SPECIFICATION 210.5C)	CY	750	\$18.00	\$13,500.00
065 210-0250B (PER SPECIFICATION 210.5C) CY 750 \$18.00 \$13,500.00 070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062			LINES DOLL THE LINES OF THE LIN		1	Т	
070 310-1101 GR AGGR BASE CRS, INCL MATL TN 2,062	065	210-0250B		CY	750	\$18.00	\$13.500.00
			., .,			Ţ.2.86	,
075 318-3000 AGGR SURF CRS TN 200	070	310-1101	GR AGGR BASE CRS, INCL MATL	TN	2,062		
075 318-3000 AGGR SURF CRS TN 200							
0/3 310-3000 AGGR SURF CRS 11N 200	075	210 2000	ACCR SURE CRS	TNI	200		
	0/5	310-3000	אטטה אטגר טגא	IIN	200		

COMPANY NAME:	

GWINNETT COUNTY, GEORGIA				
PROJECT #:	M-1357-01, F-1546-01 & M-1238-28			
PROJECT:	Lakeview Road at Pharrs Road / Hillside Drive			
BID NUMBER:	BL114-24			

		BID SCHEDULE					
100	Item #	GDOT#	Description	Units	Est. Bid Quantity	Unit Price Bid	Total Price Bid
RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & TN 322	080	402 1902		TNI	50		
100	080	402-1602	IT CIME	IIN	50		
100 402-3121	085	402-1812		TN	322		
100							
100	090	402-3121		TN	501		
100			DECYCLED ACRU CONC 42 5 MM CUREDDAVE, CD 2		1 1		Г
100	095	402-3130		TN	447		
100			RECYCLED ASPH CONC 19 MM SUPERPAVE. GP 1 OR 2.		<u> </u>		
110 432-5010 MILL ASPH CONC PVMT, VARIABLE DEPTH SY 663 115 439-0022 PLAIN PC CONC PVMT, CL 3 CONC, 10 INCH THK SY 339 120 441-0016 DRIVEWAY CONCRETE, 6 IN TK SY 545 125 441-0104 CONC SIDEWALK, 4 IN SY 1,919 130 441-0108 CONCRETE SIDEWALK, 8 IN SY 265 135 441-0754 CONCRETE MEDIAN, 7 1/2 IN SY 127 140 441-4020 CONC VALLEY GUTTER, 6 IN SY 378 145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217	100	402-3190		TN	261		
110 432-5010 MILL ASPH CONC PVMT, VARIABLE DEPTH SY 663 115 439-0022 PLAIN PC CONC PVMT, CL 3 CONC, 10 INCH THK SY 339 120 441-0016 DRIVEWAY CONCRETE, 6 IN TK SY 545 125 441-0104 CONC SIDEWALK, 4 IN SY 1,919 130 441-0108 CONCRETE SIDEWALK, 8 IN SY 265 135 441-0754 CONCRETE MEDIAN, 7 1/2 IN SY 127 140 441-4020 CONC VALLEY GUTTER, 6 IN SY 378 145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217							
115	105	413-0750	TACK COAT	GL	513		
115	110	432-5010	MILL ASPH CONC PVMT. VARIABLE DEPTH	SY	663		
120 441-0016 DRIVEWAY CONCRETE, 6 IN TK SY 545 125 441-0104 CONC SIDEWALK, 4 IN SY 1,919 130 441-0108 CONCRETE SIDEWALK, 8 IN SY 265 135 441-0754 CONCRETE MEDIAN, 7 1/2 IN SY 127 140 441-4020 CONC VALLEY GUTTER, 6 IN SY 378 145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217		102 0010			000		
125 441-0104 CONC SIDEWALK, 4 IN SY 1,919 130 441-0108 CONCRETE SIDEWALK, 8 IN SY 265 135 441-0754 CONCRETE MEDIAN, 7 1/2 IN SY 127 140 441-4020 CONC VALLEY GUTTER, 6 IN SY 378 145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217	115	439-0022	PLAIN PC CONC PVMT, CL 3 CONC, 10 INCH THK	SY	339		
125 441-0104 CONC SIDEWALK, 4 IN SY 1,919 130 441-0108 CONCRETE SIDEWALK, 8 IN SY 265 135 441-0754 CONCRETE MEDIAN, 7 1/2 IN SY 127 140 441-4020 CONC VALLEY GUTTER, 6 IN SY 378 145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217	Г				1		T
130	120	441-0016	DRIVEWAY CONCRETE, 6 IN TK	SY	545		
130					I I		
135 441-0754 CONCRETE MEDIAN, 7 1/2 IN SY 127 140 441-4020 CONC VALLEY GUTTER, 6 IN SY 378 145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217	125	441-0104	CONC SIDEWALK, 4 IN	SY	1,919		
135 441-0754 CONCRETE MEDIAN, 7 1/2 IN SY 127 140 441-4020 CONC VALLEY GUTTER, 6 IN SY 378 145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217							
140 441-4020 CONC VALLEY GUTTER, 6 IN SY 378 145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217	130	441-0108	CONCRETE SIDEWALK, 8 IN	SY	265		
140 441-4020 CONC VALLEY GUTTER, 6 IN SY 378 145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217	135	441-0754	CONCRETE MEDIAN. 7 1/2 IN	SY	127		
145 441-5008 CONCRETE HEADER CURB, 6 IN, TP 7 LF 217				<u> </u>			l
	140	441-4020	CONC VALLEY GUTTER, 6 IN	SY	378		
					 		<u> </u>
150 441-5025 CONCRETE HEADER CURB, 4 IN, TP 9 LF 295	145	441-5008	CONCRETE HEADER CURB, 6 IN, TP 7	LF	217		
150 441-5025 CONCRETE HEADER CURB, 4 IN, TP 9 LF 295							
	150	441-5025	CONCRETE HEADER CURB, 4 IN, TP 9	LF	295		

COMPANY NAME:	

GWINNETT COUNTY, GEORGIA				
PROJECT #:	M-1357-01, F-1546-01 & M-1238-28			
PROJECT:	Lakeview Road at Pharrs Road / Hillside Drive			
BID NUMBER:	BL114-24			

 		BID SCHEDULE		Est. Bid		ī
Item #	GDOT#	Description	Units	Quantity	Unit Price Bid	Total Price Bid
155	441-6222	CONC CURB & GUTTER, 8 IN X 30 IN, TP 2	LF	3,793		
		T		Γ Γ		
160	444-1000	SAWED JOINTS IN EXISTING PAVEMENTS, PCC	LF	234		
165	446-1100	PVMT REINF FABRIC STRIPS, TP 2, 18 INCH WIDE	LF	607		
170	500-9999	CLASS B CONCRETE, BASE OR PVMT WIDENING	CY	90		
				ı		ı
175	641-1200	GUARDRAIL, TYPE W	LF	205		
180	641-5001	GUARDRAIL ANCHORAGE, TP 1	EA	2		
185	641-5015	GUARDRAIL TERMINAL, TP 12A, 31 IN, TANGENT, ENERGY-ABSORBING	EA	2		
						ı
190	643-8200	BARRIER FENCE (ORANGE), 4 FT	LF	150		
195	700-0200A	GRASSING COMPLETE (SOD) - PROJECT NO. M-1357-01	LS	1		
200	700-0200B	GRASSING COMPLETE (SOD) - PROJECT NO. F-1546-01	LS	1		
		(22)				
205	711-0100	TURF REINFORCING MATTING, TP 1	SY	215		
П		DRAINAGE		Γ Γ		
210	500-3002	CLASS AA CONCRETE	CY	40		
215	500-3800	CLASS A CONCRETE, INCL REINF STEEL	CY	4		
210	300-3000	OLAGO A CONGRETE, INCLINENT STEEL	O T	1 4		l
220	511-1000	BAR REINF STEEL	LB	3,900		
225	550-3624	SAFETY END SECTION 24 IN, SIDE DRAIN, 6:1 SLOPE	EA	1		

COMPANY NAME:	

GWINNETT COUNTY, GEORGIA				
PROJECT #:	M-1357-01, F-1546-01 & M-1238-28			
PROJECT:	Lakeview Road at Pharrs Road / Hillside Drive			
BID NUMBER:	BL114-24			

		BID SCHEDULE				
Item #	GDOT#	Description	Units	Est. Bid Quantity	Unit Price Bid	Total Price Bid
230	550-4224	FLARED END SECTION, 24 IN, STORM DRAIN	EA	1		
235	550-4230	FLARED END SECTION, 30 IN, STORM DRAIN	EA	1		
240	550-5180	STORM DRAIN PIPE,18 IN, CLASS III	LF	2,017		
245	550-5240	STORM DRAIN PIPE, 24 IN, CLASS III	LF	313		
250	550-5300	STORM DRAIN PIPE, 30 IN, CLASS III	LF	60		
255	573-2006	UNDDR PIPE INCL DRAINAGE AGGR, 6 IN	LF	200		
260	600-0001	FLOWABLE FILL	CY	10		
265	603-2024	STN DUMPED RIP RAP, TP 1, 24 IN	SY	14		
270	603-2181	STN DUMPED RIP RAP, TP 3, 18 IN	SY	34		
275	603-7000	PLASTIC FILTER FABRIC	SY	48		
280	611-3030	RECONSTR STORM SEW MANHOLE, TYPE 1	EA	1		
285	668-1100	CATCH BASIN, GP 1	EA	13		
290	668-1110	CATCH BASIN, GP 1, ADDL DEPTH	LF	7		
295	668-2100	DROP INLET, GP 1	EA	10		
300	668-2110	DROP-INLET, GP 1 ADDL DEPTH	LF	3		
		SIGNING AND MARKING				

GWINNETT COUNTY, GEORGIA			
PROJECT #:	M-1357-01, F-1546-01 & M-1238-28		
PROJECT:	Lakeview Road at Pharrs Road / Hillside Drive		
BID NUMBER:	BL114-24		

		BID SCHEDULE	1			1
Item #	GDOT#	Description	Units	Est. Bid Quantity	Unit Price Bid	Total Price Bid
				1		Ī
305	632-0003	CHANGEABLE MESSAGE SIGN, PORTABLE, TYPE 3		3		
		T				
310	636-1033	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	SF	91		
		1	1	I I		T
315	636-1036	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 11	SF	156		
320	636-2070	GALV STEEL POSTS, TP 7	LF	346		
020	000 2010	oner oreer oors, in r		040		
325	636-2080	GALV STEEL POSTS, TP 8	LF	47		
		1		1		T
330	636-2090	GALV STEEL POSTS, TP 9	LF	90		
005	202 2212	ODOLIND MOUNTED DREAVAWAY CION CURRORT	- A			
335	636-3010	GROUND-MOUNTED BREAKAWAY SIGN SUPPORT	EA	3		
		1				T
340	636-5025	HP FLEX POST DELINEATOR, TP 2B, 42 IN WHITE	EA	6		
345	653-0296	THERMOPLASTIC PVMT MARKING, WORD, TP 15	EA	3		
				<u> </u>		
350	653-6006	THERMOPLASTIC TRAF STRIPING, YELLOW	SY	118		
			1	1		T
355	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	LF	18		
360	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8 IN, WHITE	LF	724		
300	000-1004	THERWICE EASTIC SOCIED THAT STRIFE, STR, WHITE	Lr	124		
		T	1			
365	653-4830	THERMOPLASTIC SKIP TRAF STRIPE, 18 IN, WHITE	GLF	84		
370	653-8026	WET WEATHER THERMOPLASTIC SOLID TRAFFIC STRIPE, 5 IN, WHITE	LF	1,759		
1			<u>,</u>	, ,,,,,,,		1
		WET WEATHER THERMOPLASTIC SOLID TRAFFIC				
375	653-8031	STRIPE, 5 IN, YELLOW	LF	1,104		

COMPANY NAME:	

GWINNETT COUNTY, GEORGIA				
PROJECT #:	M-1357-01, F-1546-01 & M-1238-28			
PROJECT:	Lakeview Road at Pharrs Road / Hillside Drive			
BID NUMBER:	BL114-24			

BID SCHEDULE							
Item #	GDOT#	Description	Units	Est. Bid Quantity	Unit Price Bid	Total Price Bid	
380	654-1001	RAISED PVMT MARKERS TP 1, 2, 3	EA	22			
	UTILITY						
385	331219.81-AVB	ADJUST VALVE BOX	EA	5			
390	331213-1LS	WATER SERVICE CONNECTIONS – ¾ IN - 1 IN LONG SIDE SERVICE CONNECTIONS	EA	2			
- 000	00.2.0 .20	,					
395	331213-1SS	WATER SERVICE CONNECTIONS – ¾ IN - 1 IN SHORT SIDE SERVICE CONNECTIONS	EA	8			
400	330516.13-ATP	ADJUST MANHOLE FRAME AND COVERS TO GRADE - 1 VERTICAL FT. OR LESS, PAVEMENT	EA	3			
		,		· · · · · ·			
405	331219	FIRE HYDRANT	EA	2			
403	331219	FIRE HIDRAIN	EA				
440	224242 0511	SALVAGE EXISTING FIRE HYDRANTS	Ε.Δ.				
410	331213-SFH	,	EA	2			
		GCDWR WATER MAIN STEEL CASING, OPEN CUT INSTALLATION - 24 IN					
415	330523.16-240	DIAMETER	LF	120			
		WATER SERVICE CONNECTIONS - ¾ IN – 1 IN LONG					
420	331213-1LS	SIDE SERVICE CONNECTION	EA	6			
		3/4 IN - 1 IN EXTRA LONG SERVICE LINE INSTALLATION >		<u> </u>			
425	331213-1ELS	5 LANES	EA	1			
	1			 		Г	
430	331216-8GV	GATE VALVES - 8 IN	EA	1			
435	331216-10GV	GATE VALVES - 10 IN	EA	1			
440	331216-12GV	GATE VALVES - 12 IN	EA	2			
	,			<u> </u>			
445	331113.05-8D	DUCTILE IRON PIPE - 8 IN DIAMETER	LF	17			
				· ·			
450	331113.05-12D	DUCTILE IRON PIPE - 12 IN DIAMETER	LF	2,720			
	1 301110.00 120	DOO INGINER LE IL IN DIEWIELEN		2,120		1	

COMPANY NAME:	

GWINNETT COUNTY, GEORGIA				
PROJECT #:	M-1357-01, F-1546-01 & M-1238-28			
PROJECT:	Lakeview Road at Pharrs Road / Hillside Drive			
BID NUMBER:	BL114-24			

BID SCHEDULE							
Item #	GDOT#	Description	Units	Est. Bid Quantity	Unit Price Bid	To	otal Price Bid
455	331213-SFH	SALVAGE EXISTING FIRE HYDRANTS	EA	3			
460	331219	FIRE HYDRANT	EA	5			
465	033000-A	CAST-IN-PLACE CONCRETE - CLASS A	CY	5			
400	00000071	perior in the content of the content	1 01	<u> </u>		1	
470	004040 40740	TARRING OFFENED AND VALVED 40 IN 140 IN					
470	331216-12X10	TAPPING SLEEVES AND VALVES - 12 IN x 10 IN	EA	2			
475	330516	PROJECT RECORD DOCUMENTS (DWR)	LS	1			
					TOTAL		
CERTIFI	CATION OF NON	COLLUSION IN BID PREPARATION					
			(Signature))		(Date)
The Cou	unty requires that	t all who enter into a contract for the physical performa	ance of service	es with the Co	ounty must satisfy C).C.G.	A. § 13-10-91
		n a manner, and such are conditions of the contract.					. 3
In comp	liance with the at	ttached specifications, the undersigned offers and agr	ees if this hid	Lis accented l	ov the Board of Con	nmissi	oners within
one hun	dred twenty (120)) days of the date of bid opening, to furnish any or all	of the items u	pon which pri	ces are quoted with	in the	time specified
		ubmission of this bid, I understand that Gwinnett Cour eir preferred method of electronic payment upon notic					
		ayment information in the Instructions to Bidders.				. ,	<i>,</i> ,
LEGAL E	BUSINESS NAME	:				_	
		(If your company is an LLC, you must identify all principals to include add	lress and phone n	umbers in your sub	omittal)		
	_						
ADDRES	is:						
DOES Y	OUR COMPANY	CURRENTLY HAVE A LOCATION WITHIN GWINNETT C	OUNTY?	١	ES 🗆	NO	
REPRESENTATIVE SIGNATURE:						_	
PRINT AUTHORIZED REPRESENTATIVE'S NAME:							
TELEPHONE NUMBER: FAX:							
E-MAIL A	ADDRESS						